Pass2 Improvements
(RG-B spring2019)
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Pass1/Pass2
(epbound % (e’)e+e_p )

» Used about ~60% of RG-B spring2019
(runs 6156-6429 out of 6603).

» ¢ .FD,EBPID, e™: FD, EB PID & ML ID,
p: FD, EB PID.

> 02 < 0.2GeV?, [MM?| < 0.3 GeV?

e+ e- Invariant Mass

Jhy Yield 120.1+ 17.9
60 |— Mean 3.071+ 0.007
- G 0.05245 + 0.00766
— 1st order coef 41.46 + 5.67
50— Pass 1 2nd order coef ~ —74.82 + 17.81
c 3rd order coef —39.12 + 47.51
™N offset 6.414 + 1.418
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e+ e- Invariant Mass

J/iyr Yield 217.8 + 27.4
Mean 3.069 + 0.006
c 0.06039 + 0.00740
1st order coef 79.13 + 7.61
Pass 2 2nd order coef —123.1+ 23.5

3rd order coef —-110.9 + 62.8
offset 11.52 £ 2.12
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e+ EPCAL/P VS EECin/P

e+ E .0 /P vs E, /P
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e+ e- Invariant Mass

Entries 1234
- J/y Yield 39.85 + 8.07
Pass1/Pass? s
L c 0.02 + 0.00
Pass 1 1st order coef 47.78 + 4.76
( en - / e + e = ) — Srd order coof  _85.16 + 28,03
bound ~ offset 8.913 + 0.856
» Used about ~60% of RG-B spring2019 -
(runs 6156-6429 out of 6603). -
e_: FD, EB PID, e+: FD, EB PlD &.ML |D, : | I J_ oL 11 I B I .l ) T IJ Ll L_I I.'::I 1 | I“?-l 1 I | I -
n: FD, all neutral charged particles. S5 26 27 28 29 3 31 32 53 M e’
e+ e- Invariant Mass
Entries 1458
[ Jhy Yield 57.44 + 14.28
Q% < 0.3 GeV?, IMM?| < 0.3 GeV? - Mean 3.087 + 0.008
POSS 2 fljst order coef 005252 ;£20.7OE%98
- 2nd order coef _45.57 + 9.68
¢ . — 3rd order coef —111.2 =+ 34 .1
Not quite apples to apples comparison: — offset 15.92 + 1.40
pass 1 required corrections fo neutron m
momentum. Neufron reconsfruction has —
been changed in pass 2 and new -
corrections have not yet been —
investigated. -
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Missing Mass Squared Q?
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